AT FEEXEERINGES

<5 LCHIE>

A (Bifr : A)
5 H * % A &R

Frimmimn o DERFEH 30, 600, 000
IRA&ET 30, 600, 000

X H (BifL : F)
IH B * % A &R
ANGE 22,358,000 | fEER R 14, BFHEEBE 34, VHFIEEE24
EBE 48,000 | BXERERZME

Hﬁ%fiﬁ% THER, 5%!’%%5%%:,‘ FEKE,
2% 6,190,000 | Sozm MERMH, ERALER.
ARAR #HRE

X EE 30, 600, 000

<ETDEFHE>

A (B6I - M)
IH B * % A &R

HRmh o DERFEH 13, 970, 000
IRA&E 13,970, 000

X H (B4I: M)
IH H = % A &R
A& 11,788,000 | fEs& &k 14, BFEBE 24, LHFEERE24
EH%E 40,000 | BEERRZME
%8 210200 | Sokn RREAR RERRH, ASR
XHEE 13, 970, 000




